Grand Quiz Spring 2021
Subject Code MTHS501 lecture 1 to 22
Solved By Riz Mughal
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I'm providing 100% correct quiz solution. You
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information about all other subjects’ quizzes
and final year project (CS619).
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Question # 1 of 30 { Start time: 09:00:58 AM. 30 June 2021 )
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Select the correct option
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Quiz Start Time: 09:00 AM. 30 June 2021

Question # 2 of 30 ( Start time: 09:01:23 AM. 30 June 2021)

Total Marks:

a

Whenever a solution set is descnibed explicitly with vectors. we say that the solution is in parametric vector form.The equation x=su+tv (s. tin R) is called

Select the correct option

|

parametric vector equation of the plane

parametric vector equation of the line
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CQuiz Start Time: 0

Question # 3 of 30 { Start time: 09:01:35 AM. 30 June 2021)

HA:(; i) RnwE‘ﬁimlant(lll (1]),thentheCulumnsanareLinear]3r ———————

Select the correct option ® Re
Independent
Dependent

RIZ MUGHAL (SQA ENGINEER)




MTH501:Grand Quiz

Question # 4 of 30 ( Start time: 09:01:54 AM. 30 June 2021)

If A and B are matrices then A+B is only possible if both matrices have same -———

Select the correct option

Crrder

RGWE \

Elements

Columns
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Question # 5 of 30 ( Start time: 09:02:10 AM. 30 June 2021 )

If AB =1=BA for matricesA, B and I, where Iis an identity matriz, then

Select the correct option

AtV =p B = 4

’ )

B is inverse of 4,

All of the above.

A s inverse of B, \

RIZ MUGHAL (SQA ENGINEER)




MTH501:Grand Quiz

Question # 6 of 30 ( Start time: 09:02:25 AM, 30 June 2021)

Let W= {{x, y) such thatx, y in R and y = 0}. Is W a vector subspace of plane.

Select the correct option \ (

O

YES
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Question # 7 of 30 ( Start time: 09:02:39 AM. 30 June 2021)

The equation Ax = b has a solution if and only if

Select the correct option

b is the linear combination of the columns of A

b is a non-linear combination of the columns of A
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Question # & of 30 ( Start time: 09:02:54 AM. 30 June 2021)

Which of the following would be the Augmented Matrix associated with the system: 2; =1 0
—y = x7

Select the comrect option

O R

G
O (% 1)

° (%% 1 0)

O (—21 —(]2 :
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Question # 9 of 30 ( Start time: 09:03:10 AM, 30 June 2021)

A determinant does not change if we add a multiple of a row to another row.

Select the correct option
TRUE

FALSE \ o
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Question # 10 of 30 { Start time: 09:03:27 AM. 30 June 2021)

How many assumptions are there in Jacobi's method?

Select the correct option m
4
2 ‘ \
[ ]
5 A
O
3]
O
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Question # 11 of 30 ( Start time: 09:03:42 AM, 30 June 2021) T

Suppose kis any scalarand u = (uy, u2,...,u ), v = (v1,v2,...,v,) € A" then the distributive law states that

Select the correct option

Hiu+v)=ku+kv

k(u+v)=kuv v
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Question # 12 of 30 ( Start ime: 09:03:57 AM. 30 June 2021 )

Anmxm miatrix is only square matrix that is both unit lower triangular and upper triangular.

Select the correct option

scalar

O

identity

il

diagonal
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Question # 13 of 30 ( Start ime: 09:04:12 AM. 30 June 2021)

Why inverse of the matrix A=[1 2] is NOT possible?

Select the correct option

O

Because it is an identity matrx.

\

Because it is a square matrix.

-“hh-‘-_-_-‘_‘—-—-—

Because it is a rectangular matrix.

Because it is a zero matrix.
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Cuiz Start Time: 09:00 AM. 30.

RIZ MUGHAL (SQA ENGINEER)

Question # 14 of 30 ( Start time: 09:04:33 AM. 30 June 2021) Tot:
If the equation: (_2 3) (z) = (bl ) has the solution for all by, by € R, then (_2) and (3) will span — — -
5 1 Y ba 5 1
st g
. stpa,ce
O Nothing )
O Raspace \ \
O R space
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Question # 15 of 30 ( Start time: 09:04:51 AM, 30 June 2021) Total

Which of the following is corresponding Matrix form of the Linear equation = + y = 37

s et e

z[1] +y 1] =3[1]

. ('_\
1 0 0
O I(n)ﬂ'(l)_g(l)
Cant be expressed in Matrix form. X
O

O (o) (1) (5)
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Quiz Start Time

Question # 16 of 30 { Start time: 09:05:06 AM, 30 June 2021 )

Let S = {v1,v2,...,vn} beasetinVandle H = span {v1,vs,...,v,} . Some subsets of S are basis for H if -

Select the correct option

H=0

H+# {0} \
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Question # 17 of 30 ( Start time: 09:05:20 AM. 30 June 2021 )

According to determinant properties. the determinants of resulting matrix equal to k delta if elements of rows are

Select the correct option

Multiplied to constant k

Dwvided to constant k
Subtracting to constant k \
Added to constant k
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Question # 18 of 30 ( Start time: 09:05:27 AM, 30 June 2021)

If & matriz A is invertible than ad)(A) is also invertible.

)
Select the correct option I

T \

FALSE
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Question # 19 of 30 { Start time: 09:05:54 AM. 30 June 2021)

If & matrix is in reduced row echelon form, then it is also in row echelon form.

Select the correct option T~

False
O

Mone of the abowve

True

May be
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Question # 20 of 30 ( Start time: 09:06:07 AM. 30 June 2021) Total Marl

If Ais & square matrix, then the Minor of entry ith row and jth column is to be the determinant of the sub matrix that remains when the ith row and jth
column of A are:

Select the correct option
added
deleted

multiplied \
O

divided
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Question # 21 of 30 ( Start time: 09:06:23 AM. 30 June 2021)

While using the Cramer's rule, if determinant D = 0, and other determinant is not zero then how many solutions are there?

RN

Select the correct option

)

no sclution

two solutions

%f

many solutions

one solution
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Question # 22 of 30 ( Start time: 09:06:42 AM. 30 June 2021)

A matrix has not the same determinant if we add a multiple of & column to another column.

Select the correct option
TRUE
O
FALSE
L]
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Question # 23 of 30 { Start time: 09:06:57 AM. 30 June 2021 )

Since vector (:)]i&ﬁinthespan{([ll) \ ((1])}t]1&nthevecturs (i) , ([ll)and(;]) are Linearly —

Select the correct option

Independent &

Dependent
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Question # 24 of 30 ( Start time: 09:07:12 AM. 30 June 2021)

If & square matrx A can be reduced to row echelon form with interchanges, then A has an LU-decompaosition.

Select the correct option

no row

no calurmn
O

column - o
O
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Question # 25 of 30 { Start time: 09:07-26 AM. 30 June 2021)

A transformation T : B™ — RH™ |s a rule that assigns to each vectar x in B . an image vectar T(x) in B™. The set B" is called
the .and R™ is called the

Select the correct option \ )

domain of T, co-domain of T

co-domain of T, domain of T
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Question # 26 of 30 { Start time: 09:07-47 AM. 30 June 2021)

Algebraic expression involving more than one term and less than 3 terms, is known as

Select the correct option

Binomial

Monomial

\
Multinomial \

Trinomial
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Question # 27 of 30 ( Start time: 09:07:58 AM. 30 June 2021)

At what condition det{AB)=(detA)(d=tB) is possible?

Select the correct option

When A and B are nx n matrices

)

When B is a column matrix

When A and B are m x n matrices

When A is a row matrix
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Question # 28 of 30 ( Start time: 09:08:16 AM. 30 June 2021)

Which of the following can refer a single term of an Algebraic expression?

Select the correct option

(Gxfy) such that y=0

: O

D=3y
O

oy N
L]

i+ 3y
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Question # 29 of 30 ( Start time: 09:08:34 AM. 30 June 2021)

Which of the following is an example of Matrix in Echelon form?

Select the correct option =

o (1 o)
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Question # 30 of 30 ( Start time: 09:08:48 AM. 30 June 2021)

The Gauss-Seidel method is applicable to symmetric -------—-----definite matrices
Select the correct option (-""'_‘\\
Equal

O

Positive ‘ ‘\"""--
L]

Jero

Megative
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Thank you for watching

Please share it with your friends ©
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